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The booklet contains OMR sheet and having two
seals. Candidates will first open the booklet by
removing the seal at the top to get the OMR sheet.
Second seal will be removed two minutes before the
commencement of the examination.

Before starting the Examination, the candidate must
write her/his Roll Number in the Question Booklet
and the OMR Answer Sheet; in addition to putting
signature at the places provided for the purpose.

This Question Booklet consists of this cover page, and
a total 120 items. Use Blank pages available at the
end of Question Booklet for rough work.

There are four alternative answers to each item
marked as (a), (b), (c) and (d). The candidate will have
to select one of the answers that is considered to be
correct by her/him. S/he will mark the answer
considered to be correct by filling the circle.

Use black/blue ball point pen to darken the circle.

See the following illustrations.

Illustration:

1. Thesumof20and 12 is

(@ 32 (b)38(c)31(d) 34

The Correct answer of item 1 is (a), which should be
marked in OMR Answer Sheet as under:

@)

Half filled, faintly darkened, ticked or crossed circles
will be read as wrong answers by the optical scanner
and will be marked as incorrect.

The OMR Answer Sheet must be handed over to the
invigilator by the candidate before leaving the
Examination Hall.

Keep OMR Sheet straight. Do not fold it.

All questions are compulsory, each question carries
one mark.

Use of calculator/mobile/any electronic item/
objectionable material is NOT permitted.

Controller of Examination
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Please note that in case of any confusion, the question printed in English will be considered final.






56.

57.

58.

59.

60.

Aaditya can make 50 cakes in 25hours,
Aaditya and Arnav together can make 75
cakes in 15 hours.How many cakes Arnav can
makein 15 hours ?

a. 25
b. 45
c. 20
d. 10

If 7 spiders make 7 webs in 7days, then 1
spider will make 1web in how many days?

a. 1
b. 7/2
c. 7

d. 49

Which of the set of three sides can't form a
triangle?

a. S5cm,6cm,7cm

b. 5cm,8cm, 15¢cm

c. 8cm,15cm, 18 cm

d. 6cm,7cm, 11 cm

A point P lying inside a triangle is equidistant
from the vertices of the triangle. Then the
triangle has Pas its:

a. Centroid

b. Incentre

c¢. Orthocentre
d. Circumcentre

If angles of measure (5y + 62°) and (22° +y)
are supplementary, then value of y is:

a. 16°
b. 32°
c. &8°
d. 1°
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59.

60.

AT 25 B¢ #H 50 Fdh T Fohdd &, AT 3R
37979 AT 15 8¢ H 75 heh daAT Thd 2l
37979 15 8¢ H fhdal Shar a1 ThdT 872

a. 25

b. 45

c. 20

d. 10

gfE 7 ASRAT 7 A H 7 S daATAT & aF 1

HAehal 1 1l fordel feal & garwafr?

a. 1

b. 7/2

c. 7

d. 49
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61.

Consider the following statements:

A Aadhaar metadata cannot be stored for more
than three months.

B The state cannot enter into any contract with
private corporations for sharing of Aadhaar
data.

C Aadhaar is mandatory for obtaining insurance
products.

D Aadhaar is mandatory for getting benefits
funded out of the Consolidated Fund of India.

Which of the statements given above is/are
correct?

a. A and D only

b. B and D only

c. Conly

d. A, Band C only

62.If the equation y = 5 + 0.6x was graphed, then

63.

which of the following will be correct?
a. Slope would be — 5

b. Vertical intercept would be + 0.6

c. Slope would be + 5

d. Slope would be + 0.6

Which of the following is the main assumption

of the Walter Valuation Model?

a. All financing is done through Retained
earnings and external sources of funds.

b. With the additional investment the firm’s
business risk will change.

c. There is a change in the key variables such as
EPS and DPS

d. None of the above
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64. Match the following:

List — 1 List — 11
(I) Poisson distribution 1. Its mean is greater than
has the property that the Variance
(I) Normal distributionisa 2. Symmetric
(III) Chi-square distribution distribution
is 3. Positively skewed
(IV) Binomial distribution distribution

has the property that 4. TIts mean and variance

at a higher price.
(IT) The quantum that
producers want to sell

is equal to the quantum
that consumers want to

buy.

(ITT) The sensitivity of
consumers to price
changes.

(IV) Percentage change in
quantity demanded to

the percentage change

in price.

Codes:

are equal.

Codes:

(D) (II) (III) (IV) matches
a.4 2 1 3
b.4 2 3 1
c.l1 2 3 4
d2 4 3 1

65. Match the following:
List—1 List—11

(I) The producers will (i) Market in

offer more of a product equilibrium

(i) Law of supply

iii) Coeflicient of price

elasticity of demand.

(iv) Price elasticity of
demand

(I) (II) (I1I) (IV) matches

a. (if) (i) (iii) (iv)
b. (iv) (i) (i) (iii)
c. (ii) (iv) (iii) (I)
d. (i) () (iv) (iii)

64. FgfaRad &1 e &

Il - 1

Tl - 11

(1) Al fadRor | 1. 3qH1 A1
TuRr 8 i fererRor & aiferes §

(I1) TTHT faaror 2 AT faaror
& B

(A TR AR 3. THRIAD T0
g fawe faarur

(V) QUGS FAHI O 4. SHHI AT 3R
HGIK TIRUT SRISR gl

gl
Prs: (1) (I1) (1) (IV)

a. 4 2 1 3

b. 4 2 3 1

c. 1 2 3 4

d 2 4 3 1
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66. Statement I: The slope of an indifference curve 66.PYAI: Wg—cg;ﬂqﬁ[

is the Marginal Rate of Substitution in the (MRSc) T ufaRIg_ ot FﬂIﬂT‘f [+53 % S| de Qﬁ
consumption (MRSc), which is increasing. %|
Statement II: The slope of the budget line is a HYTIIL: memaaﬁ&haﬂ'M
ratio of the prices of two goods and is the T &ﬂ'qlﬁ% IR AT Ay & Faig
Marginal Rate of Substitution in exchange %
a¥(MRSE) % |
(MRSE) p ,
a. Statements I and II are correct. a. PYTI 11 w %l
b. Statement I is correct, but II is incorrect. b. DY Tl %, Afb 11 TTerd %'
3. ztatementsll. and tH are il}[c;rrteg.' t e HUYTI 3‘ﬁT RG] %I
. Statement I 1s not correct, but 1l 1s correc .
! d. BY1HEI eI &, ifeh 11 We &
67. iggojhzsolz ?er;?l;z =0.10, the power of that 67. 91 a=0.05 3R § = 0.10, T I IRBH
a. 0.15 TRIEOT 1 %
b. 0.90 a. 0.15
c. 0.85 b. 0.90
d. 0.95 c. 0.85
d. 0.95
68. Assertion (A): The poor compliance with 68. QIdl (A): q’qfaTUﬂZ[ e & e
environmental regulations is attributed to tax & for e gid & STas[g R UddH &l
enforcement despite the regulatory framework. ﬁp:ﬁw e SITdl %|
Reasor}ing (R): The GOvemment is not capable of doh (R) : THR qpf SUTeH AN & A ﬁg&m
enforcing full compliance. % |
a. (A)iscorrect and (R) is the right explanatiqn of (A). a (A w% G?IT (R) (A) aﬁﬂgﬁrm% |
b. (A) and (R) both are correct, but (R) is not the
/ : b. (A)SIR(R)GHITEI g, A (R) (A) F o
right explanation for (A). w ] & %
c. (A) is correct, but (R) is not correct. )
d. Both (A) and (R) are incorrect C. (A)W%, SIEE (R)ﬂﬁﬂﬁél
d. (A)3RR) SR
69. Forward Premium or Discount can be computed v
: . P 69. PRIs WA I fSwHTT &1 U]
by which of the following formula?
fafaied & @ fog Wi I o o T 82
a. (Spot rate — Forward rate) / Spot rate x 360 /
Future point in time a (X leRe -0 zaéia/ SICACE 360 / TR
b. (Spot rate — Forward rate) / forward rate x XTI
360 / Future point in time b. (WCYT-BRAS XC)/ BRAS € x 360/ TR
c. (Forward rate — Spot rate) / Forward rate x ST
360 / Future point in time c. (PRASC-WIET)/BRAS T x 360/ TR
d. (Forward rate — Spot rate) / Spot rate x 360 / AIECEELEED
Future point in time d. (PRES YT - Wie <) / WIE T x 360 / TR
BIEER R
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70.

71.

72.

73.

In which case, the acquirer puts pressure on the
management of the target company by
threatening to make an open offer; the board
capitulates straight away and agrees to a
settlement with the acquirer for a change of
control.

a. Poison Put

b. Bear Hug

c. Poison Pill

d. None of the above

“Gold tranche” (Reserve tranche) refers to

a. A loan system of the World Bank

b. One of the operations of a central bank

c. A credit system granted by WTO to its
members

d. A credit system granted by IMF to its
members

With reference to the International trade of India

at present, which of the following statements

is/are correct?

1. India’s merchandise exports are less than its
merchandise imports

2. India’s imports of iron, steel, chemicals,
fertilizers and machinery have decreased in
recent years.

3. India’s exports of services are more than its
imports of services.

4. India suffers from an overall trade/current
account deficit.

Select the correct answer by using the code
given below:

a. 1 and 2 Only

b. 2 and 4 Only

c. 3 Only

d. 1,3 and 4 only

In the context of the Indian economy non-
financial debt includes the following:

1. Housing loans owned by households

2. Amounts outstanding on credit cards
3. Treasury bills

Select the correct answer using the code below:
a. 1 Only

b. 1 and 2 only

c. 3 Only

d. 1,2 and 3 Only
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74.

75.

76.

With reference to trade-related investment

measures (TRIMS), which of the following

statements is/ are correct?

1. Quantitative restrictions on imports by
foreign investors are prohibited.

2. They apply to investment measures related to
trade in both goods and services.

3. They are not connected with the regulations
of foreign investment.

Select the correct answers by using the code
below:

a. 1 and 2 Only

b. 2 Only

c. 1 and 3 only

d. 1,2 and 3 only

If the RBI decides to adopt an expansionist
monetary policy, which of the following would it
not do?

1. Cut and optimize the statutory liquidity ratio.
2. Increase the marginal standing facility ratio.
3. Cut the bank rate and repo rate

Select the correct answer using the code given
below:

1 and 2 Only

b. 2 Only

c. 1l and 3 Only

d. 1,2, and 3 Only

®

With the reference to the Indian economy after

the 1991 economic liberalization, consider the

following statements

1. Worker productivity (Rs per worker at 2004-
2005 Prices) increased in urban areas while it
decreased in rural areas.

2. The percentage share of rural areas in the
workforce steadily increased.

3. Inrural areas, the growth in non —the farm
economy increased.

4. The growth rate in rural employment
decreased.

Which of the statement given above is/ are

correct?

a. 1and 2 Only

b. 3 and 4 Only

c. 3 Only

d. 1,2 and 4 only
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71.

78.

What is the importance of the term “Interest
coverage ratio” of a firm in business?

1. It helps in understanding the present risk of a

firm that a bank is going to give loan to.

2. It helps in evaluating the emerging risk of a

firm that a bank is going to give loan to.
3. The higher a borrowing firm*s level of

interest coverage ratio, the worse its ability to

serve its debt.

Select the correct answer using the code given

below:

a. 1 and 2 Only
b. 2 Only

c. 1 and 3 Only
d. 1,2 and 3 Only

Match the items given in List-I with the most
appropriate options given in List-II.

List—1 List—II
(a) Centroid Method (i) Multiple
Regression
(b) Hierarchical Method (i1) Factor
Analysis

(c) Relationship between (111) MANOVA
a single metric dependent
and two or more
independent variables

(d) The main and interactive (iv) Cluster
effects of categorical Analysis
variables on multiple
dependent interval variables.

Codes:
(a) (b) (c) (d)

. (iv) (1) (1) (ii1)

. (1) (iv) (1) (iii)

. (11) (iv) (ii1) (1)

. (iv) (iii) (1) (i1)

o

a6 o
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d. HId1,2 3R 3
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[CESLLI
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W W A0S TR
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g |
==

(@) (b) () (d)
a. (iv) (i) (i) (iii)
b. (i) (iv) (i) (iii)
c. (i) (iv) (iii) (i)
d. (iv) (i) (i) (ii)
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79.

80.

81.

Consider the following statements ;

1. The weightage of food in the consumer price
index is higher than that in the wholesale
price index (WPI).

2. The wholesale price index does not capture
changes in prices of services, which the
consumer price index does.

3. Reserve bank of India has now adopted the
wholesale price index as its key measure of
inflation and to decide on changing the key
policy rates.

Which of the statements given above is /are
correct

a. 1 and 2 Only

b. 2 Only

c. 3 Only

d. 1,2 and 3 Only

In a comprehensive strategy formulation
framework which matrix reveals the relative
attractiveness of alternative strategies and thus
provides an objective basis for selecting specific
strategies.

a. SPACE Matrix

b. SWOT Matrix

c. QSPM Matrix

d. Competitive Profile Matrix (CPM)

Match List-I with List-II and indicate your
answer using the codes given below:

List—1 List—1II
(Researcher name)  (Area of Research)
p. Asch 1. Obedience
g. Sherif 2. Conformity
r. Milgram 3. Cognitive

Dissonance

s. Festinger 4. Norm Formation

Codes:

p q r s
a. 2 4 1 3
b. 2 3 4 1
c. 1 2 3 4
d 4 3 1 2
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82.Read the below-given statements marked as

Assertion (A) and Reason (R) and indicate
your answer using the codes given below.

Assertion (A): Written essays evaluating
performance is the simplest method of
performance evaluation.

Reason (R): The results in such an evaluation
may often reflect the ability of the writer.

Codes:

a. Both (A) and (R) are true and (R) is the
correct explanation of (A).

b. Both (A) and (R) are true and (R) is not the
correct explanation of (A).

c. (A)istrue,but(R)is false.
d. Both(A)and (R)are false.

83.The formula for determining Motivational

Potential Score (MPS) is

a. MPS = (Skill variety + Autonomy + Task
identity) / 3 x (Task Significance X
Feedback.)

b. MPS = (Skill variety + Task identity +
Feedback) / 3 x (Task Significance x
Autonomy.)

c. MPS = (Skill variety + Task significance +
Autonomy)/ 3 x (Task identity x Feedback.)

d. MPS = (Skill variety + Task identity + Task
significance)/3 x (Autonomy x Feedback.)

84. Given below are two statements, the first labeled

as Assertion (A) and the other labeled as Reason
(R). Indicate your answer using the codes given
below:

Assertion (A): In attitude scaling by the Equal
Appearing Intervals Method, the median is
usually employed to obtain scale values.

Reason (R): In normal distribution mean,
median, and mode is the same.

Codes:

a. Both (A) and (R) are true and (R) is the
correct explanation of (A).

b. Both (A) and (R) are true, but (R) is not the
correct explanation.

c. (A)istrue, (R)is false.
d. (A)isfalse, (R)istrue.
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83. MfEAYa NERIA TR (Mps) FHuiRd B

CARS R
a. TANTY = (@IRrd fafdyar w@rmar &l
UBTM) /3 x (BT HEd x Ulcifshar )
b. THUITE = (PRI fafdeer & ugaH
/3 x (PTYHgd x W)
c. THUIGY = (IR fafdeyd] sl #ee

TN /3 x (P10 Uga < Ufafearn)

d. Oy - (@ fafeuar e ugem ol
Tgcd) /3 x (AT x Uidiehar|)

84, :ﬂ%ra“ramr—rﬁnw% %ﬁaﬁﬁl@mﬁm)

3R HRUT(R) &
%‘%ﬁnww@rw

a{f\%u:r A): IHM feq ara sidvra fafdr
ﬁmé??%mfr THAR R ¥hd HF U

W%Ww@mﬁﬁuﬁamw%

HRU (R) : AT e 8 A1, AfeDT 3R

CRSEECIERGE]

G

a. (A) SR (R) SN TG T 3R (R) (A) BT TET
IARTR |

b. (A)3MR(R)SFITTE, Afp1 (R) TeI T
c. (AYEE,(R)TAAGI
(A ISTE, (R) T

HX U IR BT




85.Taylor conceptualized anxiety as a drive and

hypothesized that subjects scoring higher on her
anxiety scale would be conditioned faster than
the low-scoring subjects. The experimental
studies confirmed this hypothesis for eyelid
conditioning. The results provide evidence for
the

a. Predictive validity of the anxiety scale.

b. Construct validity of the anxiety scale.

c. Concurrent validity of the anxiety scale.

d

. Content validity of the anxiety scale.

86. Assertion (A): The coin when flipped next time

will come up with tails.

Reason (R): Because the coin was flipped five
times in arow, and each time it came up heads.

Choose the correct answer from below:

a. Both (A) and (R) are true, and (R) is the
correct explanation of (A).

b. Both (A) and (R) are false, and (R) is the
correct explanation of (A).

c. (A)is doubtful, (R) is true, and (R) is not the
correct explanation of (A).

d. (A) is doubtful, (R) is false, and (R) is the
correct explanation of (A).
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87.Match List-I with List-II and indicate your
answer with the help of the given codes:

List—1I List—1II
(Leader’s (Description)
Characteristics)
p. Drive 1. Desire to influence others
toreach shared goals.
q. Leadership 2. Trustin own abilities
Motivation

r. Self Confidence 3. Intelligence; ability to
integrate and interpret
large amounts of
information.

s. Cognitive ability 4. The desire for
achievement, ambition,
high energy, tenacity,
and initiative.

Codes:

p q 1 s
a.4 3 2 1
b.4 1 2 3
c.1 2 3 4
d4 1 3 2

88. Which one of the following references is written
as per the Modern Language Association (MLA)
format?

a) Hall, Donald. Fundamentals of Electronics,
New Delhi: Prentice Hall of India, 2005

b) Hall, Donald, Fundamentals of Electronics,
New Delhi; Prentice Hall of India, 2005

¢) Hall, Donald. Fundamentals of Electronics,
New Delhi; Prentice Hall of India, 2005

d) Hall, Donald, Fundamentals of Electronics,
New Delhi: Prentice Hall of India, 2005
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2005.




APA style of referencing format?

89. Which of the following are the basic rules of 89. Ty Uy & mﬂ%ﬁ(«ﬁ & gHaret Aoy
FoffaddaaaeE?

(a)ﬁalicize tjtles of shorter works such as a W%mﬁaa@ﬁ@ﬁ% ﬁ% g
Jjournal articles or essays @mﬁ
(© e s longerworasuchasbooks > TP TG (R T TD
and journals c. fpael 3R U@l SN dd HEf &
e g efere B

(d) Alphabetically index reference list

d. JUIHHH qadhis Gy It

Select the correct answer from the codes given ElE] m R @ e ﬂﬁ AR hI I
below: $|IGQ :

a. (a)and (b) a. (a) 3R (b)

b. (b),(c)and (d) b. (b), () R (d)

c. (c)and(d) 3R (d

d. (a),(b),(c)and(d) Z’ 8 b) ( (c)) IR (d)

90. Match the items given in List - I with those given 90. 30. ﬁ?ﬁ 1Hdl Tric aﬁ\”ﬁ Pl ﬁ?ﬁ -1I ﬁ fau
T 3{TeH I AT 3R U8 Hls Y:

in List - [T and suggest the correct code:

List -1 List -2 @ -1 ﬂjﬁ -2 .
(a) THHId SAGHAT/ i) TSI C db

(a) Marginal 1) Isoquant curve Gﬁﬂﬁ Sl dl

Productivity/Average (b) 21YC CaRCRIIRE] (i1) &m NIER]

Productivity
(b) Substitutability of inputs  (ii) Isocost line

(¢) AR AP RIHDP (111)3_<C|'|3:f5|'7|'ﬁ

(c) Constant Negative Slope (iii) Production Function rIC]
(d) Convex to the origin (iv) Elasticity of Production (d) Hd & fere Ira (iv) SUTa- EASIE
Cod :

ode:

@ b (© (a) (b) (¢) (d)

b. (i) ()  (@{v) (i) b. (i1) (i) (iv) (iii)
c. (iv) () () (1) c. (iv)(iii) (i1) (1)
d. (ii) (v) (@O (i) d. (i) (iv) () (i)

91. A worker working in a factory has worked for SREE T Hrid I B QST
225 days during the calendar year 2017. He has o1 aq'?2017 ¥ a]i.l:[ 295 %$ ﬁm ;m T
been laid off for 20 days as per the standing %I 39 Rt ¥ 3TER 20 R % firg
order and has also availed 10 days of leave with ST B fear TR?IT” gl 3R 350 a9 & SR
wages during the said year. How many days of W 1Y 10 271 BT SHTHTY N U
leave with wages he shall be entitled to during a1 S| Poe ay %) a
the calendar year 2018? l N 2018 e GRTT 98 oGl
o NIL & 1Y foba el D1 gel I §HaR BN
b. 13days a. A
c. 11days b. 13fe
d. 12 days c. 11faA

d. 1277
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92.In terms of Blake-Mouton’s managerial grid

approach, a production-oriented leader will
adopt

a. 1.1style
b. 9.1style
c. 9.9style
d. 5.5style

93. The willingness to reject unfamiliar as well as

negative information is called:
a. Marketing Myopia

b. Vision Myopia

c. Strategic Myopia

d. Environmental Myopia

94.Which one of the following attributes of

advertising regarding the launching of a new
product calls for spending the entire advertising
budget in a single period?

. Pulsing

a
b. Continuity

c. Concentration
d

. Flighting

95. A firm is currently earning Rs. 50,000 and it's

one share has a present market value of Rs. 175.
It has 5,000 shares outstanding. The earnings of
the firm are expected to remain stable and ithas a
payoutratio of 100%. The cost of equity is:

a. 10%
b. 5.71%
c. 100%
d. 23.50%

96.With a project cost of Rs. 300 lacs, profits after

depreciation (straight line method) and tax for
its lifetime of 5 years are estimated at Rs. 10
lacs, Rs. 10 lacs, Rs. 30 lacs, Rs. 40 lacs and Rs.
50 lacs respectively. The cost of capital is 12%
and discount factors @ 12%, for the first five
years are 0.89, 0.80, 0.71, 0.64 and 0.57
respectively. The Net present value of the
projectis:

a. Rs.8.901acs

b. Rs. 1401acs

c. Rs.(—)207.70lacs

d

. Rs.308.901lacs
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96. mﬁw&aﬁww$mm 300 W,
T fafd)

92. SIP-AIICH & UeUD Y IS eWpivr
Ho ¥, T SAUIEH-3H@ el TR

a. 119

b. 9.1 el
c. 9.9l
d. 5.5t

93.3(aRferd 3T Y gt PRI BRI

SHIHR ObQ"IﬁE'gUESI CbGQ'II(‘II

a. 'J:I'I%%qufhﬁtﬂ
b. oo At

c. gHR® AU
d. TITeaRuT Ao

94$4q| dd-ll(‘hﬂlvcl H- b ey H fagmaT

I At faredn
Lk S

cﬂa'férfrmﬂﬁsrrq’ri
HEl &7

a. dad

b, fARaRar

c. UhTYdI

d. 3gid

95. Teh BH A H %. 50,000 3R ww

deHI"I gk Hey 3| 175 OOO
SHIATE | BH Bl HHTS [RR Qs'-l d“—lld§

i%-lebl HIdTq HJurd 100%

a. 10%

b. 5.71%
c. 100%
d. 23.50%

Tl & a1g o (et 5 9rd
b SHATHIC o o1 DR BT ATAF T | 10 ARG
¥, 10 ARI %, 30 ARI ¥. 40 ARG 3R 3. HHA:

50 TG | Gt &1 AT 12% 8 3R §¢ RE @
12%, Ui 99| & [oTT ShHRT: 0.89, 0.80,
0.71,0.64 31 0.57 B PG
e

a. %.8.90 ARG

b. 3. 140 TG

c. ¥.(-)207.70 AT
d. ¥.308.90 A



97.Arrange the steps involved in the development

ofatesting program

1. Make a provision for periodic review.
1. Selectatrial test battery.

iii. Validate the test.

iv. Establish policies and get support from
management, supervision, and labour union.

v. Identify needs.

vi.Incorporate the procedure into the
employment process.

vii.Put the program in charge of a qualified
person.

1,1v Vii,ii,iii, v, vii.
L,11,1i1,1v,v, i, vii

e o op

111, 11, 1v, 1, v, Vi, Vil.

98.According to Thorndike (1949), possible

99.

sources of variance are

1. Last and general characteristics of the
individual.

11. Last but specific characteristics of the
individual.

i11. Temporary but general characteristics of the
individual.

iv. Temporary and specific characteristics of the
individual.

v. Variance not otherwise accounted for
(chance).

a. Onlyi,iii,andv.

b. Onlyii,iv,andv.

c. Onlyiii, i, v.

d. 5. Only, 1,1i, iii, v, and v.

A point of ‘Kink’ in the kinked demand curve
indicates

I. Pricerigidity

II. Quantity rigidity
II1. Price flexibility

I'V. Quantity flexibility

Codes:

a. landII are correct.
b. IlandIII are correct.
c. IlTandIV are correct.
d. Iand IV are correct.
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97.G§uﬁw%m$ﬁwﬁmmﬁwﬁ

i, THI-GHY IR HIET BT g™ 6 |

ii. TRI&0T TRY&f0T Sest g |

iii. T1&f0T BT AT B |

iv. Sl TIfd &Y 3R Uee, Tdae 3iR
o4fHes Tg Q gHAA UTd B |

v. SReXdl Bl ggaH |

vi. Ofeh a1 B ASHIR Ufchar H Tmfid B

vii. PRIGH B! T Y Afad & THR IG |

a. 1v, vii, v, 1i, iii, vi, 1.

b. i, iv vii,ii,iii,v,vii |
c. I,iLiii,iv,v,vi, vii

d. 1ii,11,1v,1,v,v1,Vii

.@uggw(1949)$&aﬂwﬁﬂw$ﬁlnﬁﬁ

i fad @ 3ifaw IR =T faRvany|
ii. afgd ot 3ifaA wfe faRIy faxdam|
iii. fdd P RITH Afh1 IHY fRIvang|
iv. oufad Bt STt 3R fafRy faRivam|
faRur 3T (HiepT) & forg fordeR =16t

%
a. B, iii, MR v,
b. Hadii, iv, 3 v,

c. Dpad iii, i, v.

d. A, i, ii, ii, iv, 3 v.

99. fohag fEmis &d I fhar &1 & foig 3@
FRATE

1. Jed HoRdl
1. HET SRl
111, G T
W PINEISIEE]

BlS:

a. ISMRIITEEI
b. 11 3R 1198l g
c. MI3MRIVIS Tl
d

13RIV I8l B



100. If the price of any commodity decreases by

20% and the demand for that commodity
increases by 40%, then the elasticity of demand
would be:

a. Perfectly elastic
b. Perfectly inelastic
c. Unitelastic

d. Highly elastic

101. Minimum Alternative Tax (MAT) under

Sec.115 JB of the Income Tax Act is applicable
on:

. Partnership firm

. Certain companies

a
b. Association of persons
c
d. Alltypes of companies

102. For the Assessment Year 2011-12, deduction

under Sec. 80G is available without any limit but
atthe rate of 50% on:

a. Prime Minister’s National Relief Fund.
b. National Foundation for Communal Harmony.

c. Jawahar Lal Nehru Memorial Fund.
d. ChiefMinister Relief Fund.

103. Which one of the following is not a correct

method of calculating the profitability ratio in

the banking sector?

a. Burden ratio = Manpower expenses ratio +
other establishment expenditure ratio — non-
interest income ratio.

b. Profitability ratio = Spread ratio — burden
ratio

c. Spread ratio = Interest earned ratio + Interest
paidratio

d. Interest earned ratio = Interest earned/
volume of business
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102. fAgRRor a9 2011-12 %ﬁ«m YRT &
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a. YT HAI AP A6 DIV
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c. SIATeR d1d Ag% HAINIA B S |

d. TIHA IEd DI |
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a. NI 3T = SHRIRT o9 3T + 3
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3aTd |

b. TTHYET 3IUTd = had SdTd — Sl
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c. TS U = TS ST SIUTT + =TSl
HITAT ST
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104. Items given are related to international trade

theories. Match the items in List-A with the most
suitable options in List-B.

List-A List—-B
(a) ‘Zero-sum’ game (1) Factor proportion
theory

(b) Labour-Capital (i1) Mercantilism
relationship theory

(c)Relative efficiencies  (iii) Theory of
of the producing ‘Absolute
countries. advantage’

(d) ‘Positive-sum’ game (iv) Theory of
Comparative
advantage

Codes:

(@) (b)(c)(d)
(i) (1v) (1) (i1)
(1) (i11) (iv) (1)
(1) () (iv) (ii1)
(1v) (1) (i) (i)

a0 o

105.Which among the following is not rightly

explained?

(1) M, = Currency with the public + demand
deposits of the public.

(i1)) M,=M, + Post Office Savings Deposits.

(ii1) M,= M, + Time Deposits of the public with
Banks.

(iv) M,=M, +Total Post Office Deposits.

(v) M,=Narrow money

(vi) M, =Broad money

a. Only (v)and (vi)
b. Only (i) and (iii)
c. Only (vi)

d. None ofthe above
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|

e U fadedl & 1Yy

BEIaY SEIACH
(@) LIANM WA (i) PR IUrd Rigid
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(a) (b) () (d)
a. (i) (iv) (i) (ii)
b. (i) (iii) (iv) (i)
c. (i) () (iv) (iii)
d. (iv) () (i) (iii)

105ﬁ_g ﬁgﬁ%@ﬁ # T fPget ge sura gl &
9

(i) M, = ST B! FTawI-d HITT STHT & 1Y
Hall
(i) M, = M, +STHER I STHT|

(iii) M, = M, +Sb! & UTT SIdT &1 Irafd
ST

(iv) M, = M, +Pd STHER STHT|
(v) M, = Gp1of &7

(vi) M, = ST Y

a. Had (v) 3R (vi)

b. Had (i) 3R (iii)

+Had (vi)

SRIad H Y DI sl

o

o



106. This consists of two lists of statements or terms

and the candidate has to match an item in one list

with an item in the other.

List—1

(Statement)

I. Brands that are
evaluated for the
purchase decision.

II. Brands that are
considered by the
buyer for evaluation.

III. Brands that are

disliked and avoided.

IV. Brands that the
buyer is aware of
but is indifferent

towards it.
Codes:
I 11 111
a 2 3 1
b 1 2 3
c 2 1 3
d 2 1 4

List —II
(Terms)
1. Consideration set

2. Evoked set

3. Inept set

4. Inert set

IV

TOR NN
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Tl - 1 Tl - 11
EERY! (=1ch
LWRcfgsfow 1 faRde
I CRACAUSIE
CISEIE]
II. el & g 2. fawfa de
WRIGR gRT f[daR
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1. §1TS foig AToRie 3. 3T UT
fopar ST 3 3R
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IVid sie SAs IR 4. fAfcpg de
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dif 39 Ufd
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DS
I n I
a. 2 3 1 4
b, 1 2 3 4
c. 2 1 3 4
d 2 1 4 3



107. Match the following items in List — A with the
most appropriate options from List—B:

List-A List-B

a. A lender buys 1. Interest rate
securities to protect
him from a falling

collar

interest rate
b. A borrower buys 2. Interest rate cap
securities to protect
himself from rising
interest rates
3. Interest rate

corridor

c. A combination of
interest rate cap and
floor

d. A combination of two 4. Interest rate

or more interest rate floor
caps

Codes:
a b ¢ d

a. 2 4 3 1

b.4 2 1 3

c.4 2 3 1

d3 2 1 4

108. Y=a+bXrefersto

a. Y = independent variable, a = slope of the
line, b = Y intercept and X = dependent
variable

b. Y =dependent variable, a = slope of the line,
b=Y intercept and X =independent variable

c. Y = independent variable, a = dependent
variable, b =Y intercept and X = slope of the
line

d. Y = dependent variable, a = Y-intercept, b =
slope of the line and X = independent
variable
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108.Y =abX ®I HeHidHdig

a. Y=Fﬁ31—ﬂ,a=§@TWGE‘IH,b=Y
SR 3R X = AT TR

b. Y =3 =R, a = 3@ BT &AM, b =Y
JAANYT R X =T TR

c. Y=WdAT,a=3MATR, b=y AT
IR X =TI HI AN

d. d@T8 = I I, T=aTs- AR, ot = 3T
BT A 3R T = Wad IR




109. According to Michael Porter, a strategy aims at
producing products and services considered
unique industry-wide and directed at relatively
price-insensitive consumers is known as

a. CostLeadership—Best Value
b. Differentiation

c. Focus—Low Cost

d. Focus—Best Value

110. Match the following:

Organizational Advantage

Structure

a. Functional Structure 1. Clarity of project
objectives

b. Divisional Structure 2. Smooth

delegation of
authority and

responsibility
c. Matrix Structure 3. Simple and
inexpensive
d. Strategic Business 4. Ease of fixing
Unit (SBU) accountability
Codes:
a b c d
a. 1 2 3 4
b.3 4 1 2
c.3 4 2 1
d4 3 1 2

111. The customer joining the queue and leaving it
afterward is defined as

a. Jockeying

b. Balking

c. Reneging

d. None ofthe above
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a. NI g — FadH b
b. faudiemu

c. BIHY - HH AN

d. HIHY - Farad I

110. Fgfefad o1 fiem &9

SATHD TR Y
a PIATHS AT 1. TR & Ie=a!
EIREGI
b. GHFNT WA 2. UIIPR 3R
JTRaIAT BT gol
PRIISE]
AR I 3. WA SR Tt

d. 9N AUR

3PS (THEY)
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a b c d

a. 1 2 3 4

b. 3 4 1 2

c. 3 4 2 1

d 4 3 1 2

a. Wb

b. dTfehl

c. ARA

d. SWFIAT I PIS 7ol



112. Governance is the system of values, policies, 112, XY e, Fifaal ok IR} Pt ol 8
RUSEIIGED

and institutions by which a society manages its forgd GR1 U AT 30
economic, political, and social affairs through 3R TS HIJ-IQ'H BT Y W » Hiaw
interactions within and among the state, civil 3R I, ARG AT 3R it 87 & o9
society, and private sector is defined by am%ﬂaﬁ;mmﬁm% |
a. World Bank a %%%
b. UNDP b W
c. European Commission ’
d. None ofthe above c W ST
d. SRIF Y DIS ol
113.When the Debt Turnover Ratio is 4, what is the 113. S9 B0 HRITR 30T 4 2, 3Nd IUE
average collection period? 3ty 1 %?
a. Smonths a 5 qﬁe[
b. 4 months b, 4TTE
c. 3months
d. 2months c. 3 J:|3°|%[
d. 2HgH
114. If the value of the coefficient of determination 114. LT[% ﬁ%ﬁ?UT % 1IU|'IE|'7 Dl HH 0.64 % ?—ﬁ
is 0.64, what is the value of the coefficient of WH %WWWW%‘)
correlation? A 0.40
a. 0.40
b. 080 b. 0.80
d. 0.04 d. 0.04
115. Assertion (A): Use of paper money is replaced 115. 3YBYT (A) : DRTSN &I b START D1
by plastic money. The future will see electronic ST W ad %| Hfasg
money clearance through satellite networking. IR ﬁea‘j%{[[ & GINT saaei—e Hl
Reason (R): RBIis encouraging e-banking. FAIY ¢ B AT | )
PRI (R) : HRAT RoTd a6 5-dfdhT Y
Codes: UiciTied o 38T % |
a. (A)isfalse,but(R)istrue.
b. (A)istrue,but(R)is false. Fre:
c. Both(A)and (R)are false.
d. Both(A)and (R)are true. 8. (A) TTerd %’\iﬁ)_r[ (R) X<l gl
b. (A) T E, AP (R) 7TAd g
c. (A)3IR (RS I
d. (A) 3R (R) T TIEI
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116. In a 3 x 4 contingency table, using the chi-
square test, the degrees of freedom associated
with the chi-square will be:

a. 12

(O N )

b
C.
d

117. Assertion (A): According to R. B. Cattell,
source traits are important in the understanding
of personality.

Reason (R): Oblique rotation is used for
uncovering source traits.

Codes:

a. Both (A) and (R) are true and (R) is the
correct explanation of (A).

b. Both (A) and (R) are true but (R) is not the
correct explanation of (A).

c. (A)istruebut(R)is false.
d. (A)isfalsebut(R)istrue

118. Which of the following represents the Tetrad
equation as given by Spearman?
a. r12xr34=rl14xr23
b. r13x124=r14x123
c. rl4xr23=r13xr24
d. Allofthese
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116. TP 3 x
2l
EAIRPIENIE

GRI&rur

-
)
#
|
Gl

12
9
7
6

/e~ o o p

117. GTaT (A); 3R & el o S[IHR, lekicd Bl
qog Hlda&rﬂTHscqt;_Lw%
U (R): Tl AEUM Dl JSR By & forg
%%%W S g
Dre:

A sﬁ?(R)%aﬁﬂ‘fw%SﬁT(R) (A) BT
b. %ﬁ?(R)ﬁw%W(R) (A) Bt

c. (A)TIE AP (R) FSTRI
d. (A FSTe AP (R) TS

fr@ﬁ:rm‘ma:r
118, ﬁ?;ri%r@?r ngmﬂ%ﬁ?nw

a. r12 x 134 =rl14 x 123
b. r13 xr24 =rl14 x 123
rl4 x 23 =rl13 x 24

T gt

/e o



119. Match List-I with List-II and indicate your 119. g\zﬂ 1 1 G-11 ¥ gAferd Piforg 3R :ﬂ%[

answer using the codes given below: T|'Q' < DI TINT B T IR

List—1 List—1II ﬂfﬁ—l ﬂ?ﬁ—ﬂ
(Presentation of (Type of oo} o

1§€é|$?0| ERT'JI(}'I) 6 N U [ YD

reinforcement) reinforcement) & N )
p. An unpleasant 1. Positive p. HIER DT H 1. PRI

stimulus is presented reinforcement P |$ﬁ‘m WUT

to decrease behavior W\Hﬁl’q RSN
g. An unpleasant 2. Negative Wﬁ\_ﬂﬁ-ﬁ%

stimulus is removed to  reinforcement q. SIIER HIEH T 2 THRIEAR

increase behavior 1%«]1;1 '57) 3 WUT

r. Apleasant stimulus is 3. Positive

presented to increase punishment SIS 1 ecl
behavior ﬁzﬂ\_rﬂ?ﬂ%

s. A pleasant stimulus is 4. Negative r. IGRPITGH 3. qPRIHD
removed to decrease punishment %WWW oll
behavior gﬂwwﬁ

SR

Coieszq o s, AM@RBGHA 4 TORED

a1 23 4 D [TYTD il

b.2 3 4 1 RCERRERIED

.4 1 3 2 gerfearsndre

d3 2 1 4

DlS:

P q r s

a. 1 2 3 4

b. 2 3 4 1

c. 4 1 3 2

d 3 2 1 4
120. What statistical test appears to be suitable for 120. AT 3Fd=A é?ﬂgqm%%qﬁ:{m
evaluating mean differences? i g gt SUYdd @T—H %‘?

a. Independent samples t-test 2. IIdd "“i:' dow

b. gge-\glayAI;IO:/zft\fczr independent groups b, Wﬂ’ﬁ:@f%ﬁm TH BT T aT

c. Paired samples t-tes

d. Chi-squarel?[est ¢ gﬁil?[:l'ﬂ%[t-qﬁ&m

d. d-WPRRCE
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